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Solve the nonhomogeneous ODE y” +y=secx= .
COS X

[fE]A*+1=0 = A =i = yn(X) = Cicosx + CasinX
% Yp(X) = U1cosX + UzsinX = Yp' = (—U1sinX + U2cosX) + (U1'cosX + U2'sinX)
£ U1'CoSX + U2'SinX = 0-+vveeeeees (i)
yp" = (—U1cosX — Uzsinx) + (—u1'sinx + U2’cosx) » & AJH =L
[(—U1cosX —UzsinX) + (—U1'sinX + U2'cosX)] + (U1cosX + U2sinX) = tanX
—U1'SinX + U2’ COSX = SECX+ v+ v reee» (i1)
)G

0 sinXx

secX cosX
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t W(cos X, sin X)

ur = —tanx dx =— Injsecx]
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—sin X secX
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= —— =1=Ww=]1dx=x
W(cos X, sin X)

Y(X) =Yn(X) + Yp(X) = CicosX + CzsinX — (In| secX |)cosX + (X) sinX
=(C1—In|secx|)cosx + (Cz + X)sinxX



